Correlation between the season, temperature and atmospheric pressure with incidence and pathogenesis of acute appendicitis

Aleksandar Karanikolić^{1,2}, Vesna Karanikolić³, Lidija Djordjević², Ivan Pešić²

¹University of Niš, Faculty of Medicine, Niš, Serbia;

²Clinical Center of Niš, General Surgery Clinic, Niš, Serbia; ³Clinical Center of Niš, Clinic for Dermatology, Niš, Serbia

SUMMARY

Introduction There is very little literature data on the correlation between the seasons, temperature and atmospheric pressure, and pathogenesis of acute appendicitis (AA).

Objective The aim of this research is to investigate the association between the seasons, changes in atmospheric temperature and pressure, and patients' age and severity of the clinical form of AA in the city of Niš.

Methods This study included 395 patients diagnosed with AA, who, during the two-year period, from July 1st 2011 to June 30th 2013, were hospitalized and operated on at the Department of General Surgery, Clinical Center in Niš, Serbia.

Results The increased average daily values of barometric pressure by 1 millibar on the day when the event took place was associated (p < 0.05) with the decrease of total risk of the occurrence of appendicitis by 2.2% (0.2–4.1%). In all observed patients, each increase of the mean daily temperature by 1°C three days before the event took place (Lag 3) was associated (p < 0.05) with the increase of total risk of the occurrence of appendicitis by 1.3% (0.1–2.5%).

Conclusion According to the results of this research, we can conclude that patients' sex, age and severity of the clinical form of AA are not in connection with the seasons, while there are certain connections between appendicitis occurrence and atmospheric temperature and pressure.

Keywords: seasons; temperature; atmospheric pressure; acute appendicitis

INTRODUCTION

METHODS

Acute appendicitis (AA) is the most frequent cause of acute surgical abdomen. Its course is marked as a nonspecific bacterial process. The complications of AA can be the forming of abscess and perforation, which lead to localized or generalized peritonitis with possible fatal outcome [1].

The incidence of appendicitis varies according to country, geographical region, race, sex, age, food culture, and seasons [2-5]. Most of literature data confirms the seasonal pattern of AA occurrence [3, 4, 6-12], though there are data that denies the correlation [13].

There are no literature data on the correlation between patients' age, gender, and severity of the clinical form of AA and the seasons in the city of Niš. Also, there are no literature data on the influence of changes in atmospheric temperature and pressure on the hospitalization of AA. This retrospective study included 395 patients diagnosed with AA, who, during a two-year period, from July 1st 2011 to June 30th 2013, were hospitalized and operated on at the Department of General Surgery, Clinical Center in Niš, Serbia.

The research included only patients who were residents of Niš, whose symptoms of AA started on the day of their operation.

The patients were divided into groups according to sex, age, and severity of the clinical form of AA. According to age, they were divided into two groups: the group of patients under the age of 30 years, and the group of patients aged 30 years or older. The research included only patients over the age of 18.

The severity of the clinical form of AA was defined intra-operatively. Less severe form included catarrhal and phlegmonous AA, while more severe forms included gangrenous and perforated forms of AA.

The mean daily temperature and atmospheric pressure values for the city of Niš, Serbia, were obtained from the National Meteorological Department. The range of average daily values of temperature was $13.25 \pm 9.73^{\circ}$ C. The range for the daily average values of barometric pressure was 992.49 ± 6.43 millibars (mBar).

Correspondence to:

Aleksandar KARANIKOLIĆ General Surgery Clinic Clinical Centre of Niš Bulevar dr Zorana Djindjića 48 18000 Niš Serbia

pean@ptt.rs

OBJECTIVE

The aim of this research is to investigate the association between the seasons, changes in atmospheric temperature and pressure and patients' age and severity of the clinical form of AA in the city of Niš.

Statistical analysis

The data presentation for this article consists of descriptive statistics including means and standard deviations for continuous variables and frequency counts, and percentages for categorical variables. To compare frequencies, χ^2 test was performed. To compare patients' years of age across four seasons, one-way analysis of variance (one-way ANOVA) was used.

To investigate the association between the appendicitis related hospitalizations and the barometric pressure, we used the negative binomial regression model. A negative binomial model was used to account the overdispersion (mean daily number of appendicitis related hospitalizations for the investigated period was 0.48 ± 0.50), as well as the number of days with zero cases (from 823 days of investigated period there were 429 days without appendicitis related hospitalizations). This model included daily appendicitis counts as the dependent variable, and average daily values of barometric pressure as the independent variable:

daily appendicitis counts = $e^{intercept + b (average daily values of barometric pressure)}$

where e is a natural number (approximately equal to 2.72) while b is a regression coefficient.

Appendicitis occurrence rate ratios for a 1 mBar change in daily average values of barometric pressure are obtained by exponentiation of the regression coefficients, that is, $\exp[b]$. For ease of interpretation, expression The relationship between barometric pressure and the appendicitis risk after lags for 0, 3, and 7 days, as well as the cumulative lags for 0-3 and 0-7 days, was examined.

To investigate the association between the appendicitis related hospitalizations and the temperature, we used the negative binomial regression model that included daily appendicitis counts as the dependent variable and daily values of maximum, minimum or mean temperature as the independent variable:

daily appendicitis counts = $e^{intercept + b (average daily values of temperature)}$

The relationship between temperature and the appendicitis risk after lags for 0, 3, and 7 days, as well as the cumulative lags for 0–3 and 0–7 days, was examined.

Analyses were performed using R, a language and environment for statistical computing, version 2.12.0 (R Foundation for Statistical Computing, Vienna, Austria). A p-value less than 0.05 was considered significant in all comparisons.

RESULTS

Relationship between average age, sex, and severity of appendicitis and seasons, regarding patients with appendicitis, is shown in Table 1.

Table 1. Relationship between average age, sex, and severity of appendicitis and seasons, in patients with appendicitis

Characteristic	Total	Winter	Spring	Summer	Autumn
Age (years)	35.38 ± 17.86	35.71 ± 17.84	36.85 ± 18.74	33.68 ± 16.89	34.98 ± 17.84
Male	181 (45.8%)	39 (44.8%)	56 (47.9%)	40 (42.1%)	46 (47.9%)
Female	214 (54.2%)	48 (55.2%)	61 (52.1%)	55 (57.9%)	50 (52.1%)
Less severe	231 (58.5%)	50 (57.5%)	62 (53.0%)	61 (64.2%)	58 (60.4%)
More severe	164 (41.5%)	37 (42.5%)	55 (47.0%)	34 (35.8%)	38 (39.6%)

Table	2.	Appendicitis	occurrence	rate ratios (9	5% confide	nce interval	for 1 mBa	increase i	n barometric	pressure b	y ag	e gr	oup
				,									

Age and Lag period	Total	Less severe	More severe
All ages			
Lag 0	0.978 (0.959–0.998)*	0.994 (0.973–1.017)	0.975 (0.951–0.999)*
Lag 3	0.988 (0.968–1.008)	0.999 (0.977-1.021)	0.983 (0.959–1.008)
Lag 7	0.995 (0.976–1.015)	0.994 (0.973–1.016)	1.001 (0.977–1.026)
Lag 0–3	0.974 (0.952–0.997)*	0.992 (0.967–1.017)	0.972 (0.944–0.999)*
Lag 0–7	0.979 (0.954–1.005)	1.000 (0.972–1.028)	0.970 (0.939–1.002)
<30 years			
Lag 0	0.979 (0.960–0.999)*	0.983 (0.958–1.009)	0.978 (0.941–1.016)
Lag 3	0.997 (0.974–1.021)	1.003 (0.977–1.030)	0.986 (0.949–1.026)
Lag 7	0.995 (0.973–1.018)	0.991 (0.966–1.017)	1.005 (0.967–1.045)
Lag 0–3	0.981 (0.955–1.007)	0.988 (0.958–1.017)	0.974 (0.931–1.018)
Lag 0–7	0.985 (0.956–1.015)	0.993 (0.960–1.027)	0.973 (0.926–1.023)
≥30 years			
Lag 0	0.992 (0.969–1.015)	1.011 (0.979–1.044)	0.977 (0.949–1.007)
Lag 3	0.985 (0.962–1.009)	0.991 (0.959–1.023)	0.984 (0.955–1.014)
Lag 7	0.998 (0.975–1.021)	0.997 (0.965–1.029)	0.999 (0.970-1.029)
Lag 0–3	0.984 (0.957–1.010)	0.999 (0.962–1.036)	0.975 (0.942–1.009)
Lag 0–7	0.986 (0.957–1.017)	1.006 (0.965–1.049)	0.973 (0.936–1.011)

Table 3. Appendicitis occurrence rate rat	tios (95% confidence interval) for 1	mBar increase in ba	arometric pressure k	oy gender

Gender and Lag period	Total	Less severe	More severe					
Females								
Lag 0	0.982 (0.960-1.005)	0.989 (0.964–1.014)	0.976 (0.941–1.013)					
Lag 3	0.994 (0.971–1.017)	0.996 (0.970-1.022)	0.991 (0.955–1.029)					
Lag 7	0.998 (0.976-1.020)	0.995 (0.970-1.020)	1.005 (0.969–1.043)					
Lag 0–3	0.981 (0.956–1.007)	0.984 (0.956-1.014)	0.982 (0.941-1.024)					
Lag 0–7	0.986 (0.958–1.016)	0.993 (0.961–1.026)	0.978 (0.933–1.026)					
Males								
Lag 0	0.990 (0.967–1.014)	1.007 (0.974–1.041)	0.979 (0.949–1.009)					
Lag 3	0.990 (0.966–1.014)	1.004 (0.971–1.038)	0.981 (0.951–1.011)					
Lag 7	0.997 (0.973–1.020)	0.995 (0.963–1.028)	0.999 (0.969–1.029)					
Lag 0–3	0.985 (0.959–1.013)	1.008 (0.970–1.047)	0.969 (0.941–0.998)*					
Lag 0–7	0.987 (0.957–1.018)	1.011 (0.969–1.055)	0.970 (0.932–1.009)					

*p < 0.05

Table 4. Appendicitis occurrence rate ratios (95% confidence interval) for 1°C increase in mean daily temperature by age group

Age and Lag period	Total	Less severe	More severe				
All ages							
Lag 0	1.010 (0.997–1.022)	1.008 (0.994–1.021)	1.004 (0.989–1.019)				
Lag 3	1.013 (1.001–1.025)*	1.007 (0.993–1.020)	1.010 (0.995–1.025)				
Lag 7	1.010 (0.998–1.022)	1.001 (0.988–1.015)	1.013 (0.997–1.028)				
Lag 0–3	1.013 (1.001–1.026)*	1.010 (0.996–1.024)	1.007 (0.992–1.023)				
Lag 0–7	1.013 (1.001–1.026)*	1.006 (0.992–1.021)	1.010 (0.994–1.027)				
<30 years							
Lag 0	1.007 (0.993–1.021)	1.007 (0.991–1.023)	1.004 (0.981–1.028)				
Lag 3	1.006 (0.992–1.020)	1.004 (0.989–1.020)	1.008 (0.984–1.032)				
Lag 7	1.009 (0.995–1.023)	1.002 (0.987–1.018)	1.021 (0.997–1.046)				
Lag 0–3	1.010 (0.995–1.024)	1.009 (0.992–1.025)	1.008 (0.984–1.033)				
Lag 0–7	1.009 (0.994–1.024)	1.006 (0.990–1.023)	1.012 (0.987–1.037)				
≥30 years							
Lag 0	1.005 (0.991–1.019)	1.006 (0.986–1.026)	1.003 (0.985–1.021)				
Lag 3	1.010 (0.996–1.024)	1.008 (0.988–1.028)	1.009 (0.991–1.028)				
Lag 7	1.003 (0.988–1.017)	0.998 (0.979–1.017)	1.006 (0.988–1.024)				
Lag 0–3	1.007 (0.993–1.022)	1.008 (0.988–1.028)	1.005 (0.987–1.024)				
Lag 0–7	1.007 (0.992–1.022)	1.004 (0.983–1.024)	1.008 (0.989–1.027)				

*p < 0.05

There was no statistically significant association between the patients' age, sex, and severity of the clinical form of AA and the seasons.

Appendicitis occurrence rate ratios for 1 mBar increase in barometric pressure by age group are shown in Table 2.

In all observed patients each increase of the average daily value of barometric pressure by 1 mBar on the day when the event took place was associated (p < 0.05) with the decrease of total risk of the occurrence of appendicitis by 2.2% (0.2–4.1%), as well as with the occurrence of more severe appendicitis (p < 0.05) by 2.5% (0.1–4.9%). The increase of the average barometric pressure by 1 mBar on the day when the event took place and three days before it (Lag 0–3) was associated with the decrease of the risk of the occurrence of appendicitis (p < 0.05) by 2.6% (0.3–4.8%), as well as of the occurrence of more severe appendicitis (p < 0.05) by 2.8% (0.1–5.6%).

In the <30 years age group each increase of the average daily values of barometric pressure by 1 mBar on the day when the event took place was associated (p < 0.05) with the decrease of total risk of the occurrence of appendicities by 2.1% (0.1–4.0%). In the ≥30 years age group no

significant association between barometric pressure and appendicitis occurrence risk was confirmed.

Appendicitis occurrence rate ratios for 1 mBar increase in barometric pressure by sex are shown in Table 3.

In males, the increased average daily values of barometric pressure by 1 mBar on the day when the event took place and three days before it (Lag 0–3) was associated with the decrease of the risk of the occurrence of more severe appendicitis (p < 0.05) by 3.1% (0.2–5.9%). In females, no significant association between barometric pressure and appendicitis occurrence was confirmed.

Appendicitis occurrence rate ratios (95% confidence interval) for 1°C increase in mean daily temperature by age group are shown in Table 4.

In all observed patients, each increase of the mean daily temperature by 1°C three days before the event took place (Lag 3) was associated (p < 0.05) with the increase of total risk of the occurrence of appendicitis by 1.3% (0.1-2.5%). The increase of the mean daily temperature by 1°C on the day when the event took place and three days before it (Lag 0–3), as well as mean daily temperature on the day when the event took place and seven days before it (Lag

Table 5. App	endicitis occurrence	rate ratios (95%	confidence interval) for 1°C increase	e in mean dailv t	temperature by gender
				/		

Gender and Lag period	Sender and Lag period Total		More severe					
Females								
Lag 0	1.012 (0.998–1.026)	1.012 (0.996–1.028)	1.007 (0.985–1.030)					
Lag 3	1.010 (0.996–1.024)	1.008 (0.992–1.024)	1.010 (0.987–1.033)					
Lag 7	1.008 (0.994–1.022)	1.004 (0.988–1.019)	1.014 (0.991–1.037)					
Lag 0–3	1.015 (1.001–1.030)*	1.014 (0.998–1.031)	1.011 (0.988–1.035)					
Lag 0–7	1.013 (0.998–1.028)	1.010 (0.994–1.027)	1.013 (0.989–1.037)					
Males								
Lag 0	0.999 (0.985–1.014)	0.997 (0.977–1.017)	1.001 (0.983–1.019)					
Lag 3	1.006 (0.992–1.021)	1.002 (0.982–1.022)	1.008 (0.990–1.027)					
Lag 7	1.004 (0.990–1.019)	0.997 (0.977–1.017)	1.010 (0.991–1.028)					
Lag 0–3	1.001 (0.987–1.016)	0.999 (0.978–1.020)	1.003 (0.984–1.022)					
Lag 0–7	1.003 (0.988–1.018)	0.997 (0.976–1.018)	1.007 (0.988–1.027)					
Lag 0	0.999 (0.985–1.014)	0.997 (0.977–1.017)	1.001 (0.983–1.019)					

*p < 0.05

0–7) were associated with the increase of the risk of the occurrence of appendicitis (p < 0.05) by 1.3% (0.1–2.6%).

Appendicitis occurrence rate ratios (95% confidence interval) for 1°C increase in mean daily temperature by sex are shown in Table 5.

In females, each increase of the mean daily temperature by 1°C on the day when the event took place and three days before it (Lag 0–3) was associated with the increase of the risk of the occurrence of appendicitis (p < 0.05) by 1.5% (0.1–3.0%). In males, no significant association between appendicitis occurrence and mean daily temperature was confirmed.

DISCUSSION

The conducted research did not show statistically significant correlation between the patients' age, sex, and severity of the clinical form of AA and the seasons. The lack of the seasonal pattern of AA in this research matches the results of Wolkomir et al. [13], while most of literature data show the summer pattern of the occurrence of AA [3, 4, 8–11]. Also, there are studies that suggest the tendency of the occurrence of appendicitis during winter [14, 15, 16]. The reason for this trend is unclear, but it has been reported that several factors may play a part: 1) the varying effects of bacterial or viral pathogens that cause infections at different temperatures, 2) the effect of allergens during warmer months, 3) nutritional variations, and 4) the effect of migration of tourists during summer [6, 17, 18].

The results of the conducted research showed that changes in daily values of atmospheric pressure on the day of the occurrence of AA, as well as three days before, were accompanied by decreased frequency of AA in all examined patients, including the patients with severe forms of AA. In all examined patients, changes in daily values of atmospheric temperature three days before the occurrence of AA, as well as changes in temperature three and seven days prior to the day of the occurrence of AA, were accompanied by increased occurrence of AA, with no connection to the severity of clinical form. The research conducted by Gallerani et al. [8] in Italy showed a seasonal pattern of the occurrence of AA, which depended on the clinical form of AA. In this research, acute appendicitis accompanied by peritonitis occurred more frequently during the summer [8]. Deng et al. [10] showed in their research that perforative AA had a winter pattern of incidence.

Appendix is classified as a lymphatic organ due to its structure rich in lymph follicles. There are about 200 lymph follicles in human body between the ages of 12 and 20 years. After the age of 30, the number of lymph follicles decreases by half, and after the age of 60, lymph follicles are present only in traces [19, 20]. The lymph follicles play an important role in pathogenesis of AA. Therefore, different pathogenetic mechanisms are expected among different age groups. The results presented in the research show that in patients with AA who were under the age of 30, a change in the average value of atmospheric pressure on the day of the event was accompanied by decreased occurrence of AA, with no connection with the clinical form of AA. In patients with AA aged 30 and over, there was no correlation between a change in the average value of atmospheric pressure and the occurrence and clinical form of AA. The age of patients with AA was not related to changes in the average values of atmospheric temperature. The research of Gallerani et al. [8] showed that in patients under the age of 19, the occurrence of AA was most frequent during the winter, while in patients aged 20 and over, the occurrence of AA was more frequent in the summer.

The research conducted by Sulu et al. [21] shows that AA is most common in males 10–19 years of age, while the research conducted by Noudeh et al. [9] shows that AA is most common in the summer, in men aged 20–29. Körner et al. [22] showed that the occurrence of perforated AA is not gender related. In the conducted research, it is presented that in men a change in the average daily value of atmospheric pressure on the day of the occurrence of AA, as well as three days before it, was accompanied by decreased frequency of only severe forms of AA, while the same correlation was not found in women. In women, a change in the average daily value of atmospheric temperature three days prior to the day of the occurrence of AA, was accompanied by increased occurrence of AA, with no connection to the clinical form of AA, while in men, there was no correlation between a change in the average value of atmospheric temperature and the occurrence and clinical form of AA.

Khaavel' et al. [6] reported the increase of appendicitis occurrence rate during the periods of vast fluctuations of air temperature, increase in air humidity and decrease of actual sun radiance duration. The increase of acute appendicitis occurrence was also noted during the months of great and extremely great magnetic storms [6].

There are no literature data on the mechanism involved in the influence of atmospheric temperature and pressure on the pathogenesis of AA. The results of the study suggest that an increase of atmospheric pressure decreases the occurrence of AA and vice versa. Hypothetically, an increase in temperature, which is always accompanied by peripheral vasodilatation and decreased volume of blood circulating through internal organs, results in decreased blood irrigation of the appendix [23]. Thus, the supply of defense cells like leukocytes in appendix is decreased [23]. This results in decreased perfusion and defense ability of appendix, which further increases the occurrence of AA.

In humans, an increase in hydrostatic pressure of only 5 atmosphere absolute (ATA) causes a significant bradycardia [24]. Mulkey et al. [25] found that neurons in the dorsal motor nucleus of vagus and nucleus tractus solitarius are stimulated by ≤ 4 ATA of helium. These cardiovascular changes are likely mediated, in part, by a hyperbaric-in-

REFERENCES

- Ditzel M, van Ginhoven TM, van der Wal JB, Hop W, Coene PP, Lange JF, et al. What patients and surgeons should know about the consequences of appendectomy for acute appendicitis after long-term follow-up: factors influencing the incidence of chronic abdominal complaints. J Gastrointest Surg. 2013; 17(8):1471–1476. [DOI: 10.1007/s11605-013-2235-0] [PMID: 23733362]
- Yıldız T, Bozdağ Z, Erkorkmaz U, Emre A, Turgut T, Ilçe Z. Analysis of risk factors for the development of pediatric appendicitis. Ulus Travma Acil Cerrahi Derg. 2013; 19(6):554–558.
 [DOI: 10.5505/tjtes.2013.52059] [PMID: 24347216]
- Luckmann R, Davis P. The epidemiology of acute appendicitis in California: racial, gender, and seasonal variation. Epidemiology. 1991; 2(5):323–30. [PMID: 1742380]
- Oguntola AS, Adeoti ML, Oyemolade TA. Appendicitis: Trends in incidence, age, sex, and seasonal variations in South-Western Nigeria. Ann Afr Med. 2010; 9(4):213–7.
 [DOI: 10.4103/1596-3519.70956] [PMID: 20935419]
- Al-Omran M, Mamdani M, McLeod RS. Epidemiologic features of acute appendicitis in Ontario, Canada. Can J Surg. 2003; 46(4):263– 8. [PMID: 12930102]
- Khaavel' AA, Birkenfeldt RR. Nature of the relation of acute appendicitis morbidity to meteorological and heliogeophysical factors. Vestn Khir Im I I Grek. 1978; 120(4):67–70. [PMID: 654016]
- Addiss DG, Shaffer N, Fowler BS, Tauxe RV. The epidemiology of appendicitis and appendectomy in the United States. Am J Epidemiol. 1990; 132(5):910–25. [PMID: 2239906]
- Gallerani M, Boari B, Anania G, Cavallesco G, Manfredini R. Seasonal variation in onset of acute appendicitis. Clin Ter. 2006; 157(2):123–7. [PMID: 16817501]
- Noudeh YJ, Sadigh N, Ahmadnia AY. Epidemiologic features, seasonal variations and false positive rate of acute appendicitis in Shahr-e-Rey, Tehran. Int J Surg. 2007; 5(2):95–8. [PMID: 17448972]
- Deng Y, Chang DC, Zhang Y, Webb J, Gabre-Kidan A, Abdullah F. Seasonal and day of the week variations of perforated appendicitis in US children. Pediatr Surg Int. 2010; 26(7):691–6. [DOI: 10.1007/s00383-010-2628-z] [PMID: 20524129]

duced increase in catecholamine secretion [26, 27]. Human studies at relatively high pressures have shown an augmentation of sympathetic nervous system activity, as measured by plasma epinephrine and norepinephrine levels [26]. Hypothetically, we can presume that an increase of pressure affects the sympathetic nervous system, which leads to peripheral vasodilatation under the influence of catecholamine, all of which increases perfusion of internal organs, including the appendix. The increased perfusion, as well as the increased supply of defense cells, could affect the decrease in the occurrence of AA.

It is necessary to point out that this is the very first research dealing with correlation between atmospheric temperature and pressure and pathogenesis of AA. Further research should be aimed at additional clarification concerning the mechanisms of the influence that atmospheric temperature and pressure have on pathogenesis of AA, as well as at examination of association between climatic factors and already known etiological risk factors concerning the occurrence of AA. The data would attribute to additional clarification of pathogenesis of AA.

CONCLUSION

According to the results of this research, we can conclude that patients' sex, age, and severity of the clinical form of AA are not in connection with the seasons, while there are certain connections with changes in atmospheric temperature and pressure.

- Stein GY, Rath-Wolfson L, Zeidman A, Atar E, Marcus O, Joubran S, et al. Sex differences in the epidemiology, seasonal variation, and trends in the management of patients with acute appendicitis. Langenbecks Arch Surg. 2012; 397(7):1087–92.
 [DOI: 10.1007/s00423-012-0958-0] [PMID: 22661078]
- Wei PL, Chen CS, Keller JJ, Lin HC. Monthly variation in acute appendicitis incidence: a 10-year nationwide population-based study. J Surg Res. 2012; 178(2):670–6.
 [DOI: 10.1016/j.jss.2012.06.034] [PMID: 22795352]
- Wolkomir A, Kornak P, Elsakr M, McGovern P. Seasonal variation of acute appendicitis: a 56-year study. South Med J. 1987; 80(8):958– 60. [PMID: 3616723]
- Ciani S, Chuaqui B. Histopathological features of resolving of acute non-complicated phlegmonous appendicitis. Pathol Res Pract. 2000; 196(2):89–93. [PMID: 10707364]
- Sulu B, Gunerhan Y, Ozturk B, Arslan H. Is long-term hunger (Ramadan model) a risk factor for acute appendicitis? Saudi Med J. 2010; 31(1):59–63. [PMID: 20062901]
- Lee JH, Park YS, Choi JS. The epidemiology of appendicitis and appendectomy in South Korea: national registry data. J Epidemiol. 2010; 20(2):97–105. [PMID: 20023368]
- Barker DJ, Morris J. Acute appendicitis, bathrooms, and diet in Britain and Ireland. Br Med J (Clin Res Ed). 1988; 296(6627):953–955. [PMID: 3129106]
- Kwaasi AA, Parhar RS, Harfi H, Tipirneni P, al-Sedairy ST. Characterization of antigens and allergens of date palm (Pheonix dactylifera) pollen. Immunologic assessment of atopic patients by whole extract and its fractions [corrected]. Allergy. 1992; 47(5):535– 544. [PMID: 1485659]
- Mosayebi G, Alizadeh SA, Alasti A, Amouzandeh Nobaveh A, Ghazavi A, Okhovat M, et al. Is CD19 an Immunological Diagnostic Marker for Acute Appendicitis? Iran J Immunol. 2013; 10(4):216–228. [DOI: IJIv10i4A3] [PMID: 24375063]
- Soo KS, Michie CA, Baker SR, Wyllie JH, Beverley PC. Selective recruitment of lymphocyte subsets to the inflamed appendix. Clin Exp Immunol. 1995; 100(1):133–8. [PMID: 7697912]

- Sulu B, Günerhan Y, Palanci Y, Işler B, Cağlayan K. Epidemiological and demographic features of appendicitis and influences of several environmental factors. Ulus Travma Acil Cerrahi Derg. 2010; 16(1):38–42. [PMID: 20209394]
- Körner H, Söndenaa K, Söreide JA, Andersen E, Nysted A, Lende TH, et al. Incidence of acute nonperforated and perforated appendicitis: age-specific and sex-specific analysis. World J Surg. 1997; 21(3):313–317. [PMID: 9015177]
- 23. Yamazaki F. Heat stress and human baroreflex function. J UOEH. 2010; 32(4):329–340. [PMID: 21229726]
- Linnarsson D, Ostlund A, Lind F, Hesser CM. Hyperbaric bradycardia and hypoventilation in exercising men: effects of ambient pressure and breathing gas. J Appl Physiol (1985). 1999; 87(4):1428–1432. [PMID: 10517774]
- Mulkey DK, Henderson RA 3rd, Putnam RW, Dean JB. Pressure (< or=4 ATA) increases membrane conductance and firing rate in the rat solitary complex. J Appl Physiol (1985). 2003; 95(3):922–930. [PMID: 12704095]
- Hirayanagi K, Nakabayashi K, Okonogi K, Ohiwa H. Autonomic nervous activity and stress hormones induced by hyperbaric saturation diving. Undersea Hyperb Med. 2003; 30(1):47–55. [PMID: 12841608]
- 27. Paul ML, Philp RB. Hyperbaric He but not N2 augments Ca2+dependent dopamine release from rat striatum. Undersea Biomed Res. 1989; 16(4):293–304. [PMID: 2773161]

Корелација годишњих доба, температуре и атмосферског притиска с патогенезом акутног апендицитиса

Александар Караниколић^{1,2}, Весна Караниколић³, Лидија Ђорђевић², Иван Пешић²

¹Универзитет у Нишу, Медицински факултет, Ниш, Србија; ²Клинички центар, Клиника за општу хирургију, Ниш, Србија;

³Клинички центар, Клиника за дерматологију, Ниш, Србија

КРАТАК САДРЖАЈ

Увод Постоји врло мало литературних података о повезаности годишњих доба, температуре и атмосферског притиска са патогенезом акутног апендицитиса (АА).

Циљ рада Циљ овог истраживања је да се утврди повезаност годишњих доба, температуре и атмосферког притиска са патогенезом акутног апендицитиса на територији града Ниша. **Методе рада** Истраживањем је обухваћено 395 пацијената са дијагнозом АА, који су у периоду од две године, од 1. јула 2011. до 30. јуна 2013, хоспитализовани и оперисани на Клиници за општу хирургију КЦ Ниш.

Резултати Повећање просечног дневног атмосферског притиска за један милибар на дан када су се јавили први симптоми апендицитиса било је повезано са смањењем ризика од појаве апендицитиса за 2,2%. Код свих пацијената свако повећање средње дневне температуре за 1°С три дана пре појаве симптома било је повезано са повећањем ризика од појаве апендицитиса за 1,3%.

Закључак Према нашим резултатима можемо да закључимо да пол, старост пацијента и тежина клиничке форме АА нису повезани са годишњим добима, али постоји повезаност између броја хоспитализација због апендицитиса и атмосферског притиска и температуре.

Кључне речи: годишња доба; температура; атмосферски притисак; акутни апендицитис

Примљен • Received: 29/05/2015

Ревизија • Revision: 21/10/2015

Прихваћен • Accepted: 26/10/2015